# THE GENERALIZED *p*-NORMAL OPERATORS AND *p*-HYPONORMAL OPERATORS ON BANACH SPACE

WEI GUOQIANG (魏国强)\* SHEN YOUQIANG (沈友祥)\*\*

#### Abstract

In this paper, the authors discuss the generalized p-normal and p-hyponormal operators on Banach space. Some results in this paper are the generalization of Sen's results on generalized p-selfadjoint operator and some open questions of Sen's are answered.

For the generalized *p*-normal operators, the following formulae are obtained:

 $r(T) = ||T||, ||(T - \lambda I)^{-1}|| = \frac{1}{\operatorname{dist}(\lambda, \sigma(T))}.$ 

### §1. Introduction

We recall from Nath<sup>[4]</sup> that a complex Banach space X is called a complex generalized semi-inner product space if corresponding to an arbitrary pair of elements  $x, y \in X$ , there is a complex number  $[x, y]_p$  which satisfies the following properties for any  $x, y, z \in X$  and  $\lambda \in C$  (C denotes the complex field):

- (1)  $[x+y, z]_p = [x, z]_p + [y, z]_p$ .  $[\lambda x, y]_p = \lambda [x, y]_p$ ;
- (2)  $[x, x]_p > 0$ , for  $x \neq 0$ ;
- (3)  $|[x, y]_p| \leq [x, x]_p^{1/p} [y, y]_p^{\frac{p-1}{p}}, 1$

A generalized semi-inner product (briefly g. s. i. p)  $[x, y]_p$  which generates the norm  $\|,\|$  means that for any  $x \in X$ ,  $\|x\| = [x, x]_p^{\frac{1}{p}}$ .

Sen [7, Corollary 1 and 10, Note 1.1] has proved the following result.

**Proposition 1.1.** If X is a complex Banach space with norm  $\|\cdot\|$ , then for each  $p \in (1, +\infty)$ , there exists a g. s. i, p[x, y], which generates norm  $\|\cdot\|$ , and in this case we have

$$[x, \lambda y]_{v} = |\lambda|^{p-2}\overline{\lambda}[x, y]_{v}, \quad \text{for any } x, y \in X, \ \lambda \in O. \tag{1.1}$$

Moreover if  $p \neq p'$ , p,  $p' \in (1, +\infty)$  and  $[, ]_p$ ,  $[, ]_{p'}$  are respectively the corresponding g. s, i, p which generates the norm  $\|\cdot\|$ , then for all  $x, y \in X, y \neq 0$ 

Manuscript reeived September 17, 1984.

<sup>\*</sup> Department of Mathematics, East China Normal University, Shanghai, China.

<sup>\*\*</sup> Xiakuan Normal College Xiakuan, Yunnan, China.

$$[x, y]_{p} = ||y||^{p-p'} [x, y]_{p'}.$$
(1.2)

Milicié [6, Theorem 4] has proved that if X is a smooth strictly convex and reflexive Banach space, then there is a unique g. s. i.  $p[, ]_p$  which generates the norm and for each  $f \in X^*$  there is a unique  $y \in X$  such that  $f(x) = [x, y]_p$  for all  $x \in X$ , and in this case we have

$$\|f\| = \|y\|^{p-1}.$$

From Milicié's result and Proposition 1.1, we have

**Proposition 1.2.** For each  $f \in X^*$  and  $p' \in (1, +\infty)$ , there is a unique  $y' \in X$  such that  $f(x) = [x, y']_{p'}$  for all  $x \in X$ , where the g. s. i.  $p[, ]_{p'}$  generates the norm.

Throughout this paper, we shall always assume that X is a Banach space which is smooth, strictly convex and reflexive. We also assume that the g, s, i, p[, ]<sub>p</sub> which appears in this paper always generates the norm.

Sen<sup>[7]</sup>, by the above result of Milicié, has defined the generalized adjoint operator  $T_p^*$  of an operator T on X.

Suppose  $p \in (1, +\infty)$ . For  $T \in B(X)$  and  $y \in X$ , by  $g(x) = [Tx, y]_p$ , we obtain a linear continuous functional  $g \in X^*$ . From Proposition 1.2 there is a unique  $y^* \in X$  such that

$$[Tx, y]_{p} = [x, y^{*}]_{p}.$$
(1.3)

Therefore,  $T_p^*y = y^*$  well defines a mapping which maps X into X,  $T_p^*$  is called the generalized *p*-adjoint operator of T.

Generally,  $T_p^*$  is not a linear operator and is depending on p. For any mapping A which maps X into X, let

$$||A|| = \sup_{x\neq 0} \frac{||Ax||}{||x||}.$$

Evidently, we have

**Proposition 1.3.** Let  $T \in B(X)$ .  $p \in (1, +\infty)$ . Then

(1)  $||T_{p}^{*}|| = ||T||^{\frac{1}{p-1}}$ ,

(2)  $||T_p^*T|| \leq ||T_p^*|| ||T||,$ 

(3)  $||TT_p^*|| \leq ||T|| ||T_p^*||.$ 

T is called a generalized p-self-adjoint operator if  $T_p^* = T$ .

Sen<sup>[10]</sup> has discussed some spectral properties of generalized 2-selfadjoint operators and has given some open problems. In this paper, we shall introduce the concept of generalized p-normal and p-hyponormal operators which extends the concept of generalized p-selfadjoint operators and answer the Sen's questions.

**Proposition 1.4.** Let  $A, B \in B(X)$  such that  $A_p^*, B_p^*$  are both linear bounded operators and there are constants  $M_A$ ,  $M_B$  such that  $(A_p^*)_p^* = M_A A, (B_p^*)_p^* = M_B B$ . Then

(1)  $[Ax, y]_p = [x, A_p^*y]_p, [A_p^*x, y]_p = |M_A|^{p-2}\overline{M}_A[x, Ay]_p;$ 

(2)  $((A_p^*)_p^*)_p^* = M^{\frac{2-p}{p-1}} \overline{M}_A A_s^*;$ (3)  $||A_p^*|| = ||M_A||^{\frac{p-1}{p}} ||A||;$ (4)  $(AB)_p^* = B_p^* A_p^*;$ (5) A is a regular operator if and only if  $A_p^*$  is a regular operator. Proof We only prove (3). For convenience, write  $A^* = A_p^*, A^{**} = (A_p^*)_p^*, A^{***} = ((A_p^*)_p^*)_p^*, [x, y] = [x, y]_p^*$ Since  $\|Ax\|^{p} = [Ax, Ax] = |M_{A}|^{1-p} [A^{*}Ax, x]| \le |M_{A}|^{1-p} [A^{*}Ax, A^{*}Ax]^{\frac{1}{p}} [x, x]^{\frac{p-1}{p}},$ we also have

$$||Ax||^{p} = [x, A^{*}Ax] \leq [x, x]^{\frac{1}{p}} [A^{*}Ax, A^{*}Ax]^{\frac{p-1}{p}}.$$

Thus

$$\|Ax\|^{2p} \leq \|M_A\|^{1-p} \|A^*Ax\|^p \|x\|^p,$$

so that  $||Ax||^2 \leq |M_A|^{\frac{1-p}{p}} ||A^*Ax|| ||x||$ . Hence  $||A|| \leq |M_A|^{\frac{1-p}{p}} ||A^*||$ .

Similarly, since

$$\|A^*x\|^p = [A^*x, A^*x] = [AA^*x, x] \le [AA^*x, AA^*x]^{\frac{1}{p}}[x, x]^{\frac{p-1}{p}}$$

and

$$\|A^*x\|^p = [x, A^{**}A^*x] = [x, M_A A A^*x] = |M_A|^{p-1} | [x, A A^*x] |$$
  
$$\leq |M_A|^{p-1} [x, x]^{\frac{1}{p}} [A A^*x, A A^*x]^{\frac{p-1}{p}},$$

we have  $||A^*x||^2 \leq |M_A|^{\frac{p-1}{p}} ||x|| ||AA^*x||$ . From this, we have

$$|A^*| \leq |M_A|^{\frac{p-1}{p}} ||A||.$$

Hence  $||A^*|| = |M_A|^{\frac{p-1}{p}} ||A||$ , this completes the proof of (3).

**Dnfinition 1.5.** Let x,  $y \in X \setminus \{0\}$ . The vector x is said to be generalized porthogonal to y if  $[y, x]_p = 0$ . If N is a subset of X, let

$$N^{\perp} = \{x \mid [y, x]_{p} = 0 \text{ for any } y \in N\}.$$

 $N^{\perp}$  is called the generalized p-orthogonal complement of N.

**Proposition 1.6.** Let  $A \in B(X)$ ,  $A \neq 0$ . If  $A_p^*$  is a linear bounded operator and  $(A_p^*)_p^* = MA$ , where M is a constant, then

- (1)  $N(A) = \overline{R(A_p^*)}^{\perp}$ ,
- (2)  $N(A_n^*) = \overline{R(A)}^{\perp}$ .
- (3)  $R(A) \subset \overline{N(A_p^*)^{\perp}}$
- (4)  $R(A_p^*) \subset \overline{N(A)}^{\perp}$ ,

where N(A) and R(A) denote respectively the null space and the range of A,  $\overline{\Omega}$ denotes the closure of  $\Omega$ .

The proof of Proposition 1.6 is completely analogous to the proof in the Hilbert space, so we omit it.

#### § 2. Generalized *p*-Normal and *p*-Hyponormal Operators

**Definition 2.1.** Let  $T \in B(X)$  and let  $T_p^*$  be a linear bounded operator. If there is a constant M (relative to p) such that  $(T_p^*)_p^* = MT$  and  $T_p^*T = TT_p^*$ , then T is said to be a generalized p-normal operator.

Evidently, generalized p-selfadjoint operators must be generalized p-normal operators.

**Example 2.2.** Let  $X = l^p$ ,  $1 , <math>p \neq 2$ . Then X is a smooth, strictly convex and reflexive Banach space. For arbitrary  $x, y \in X$ ,  $x = \{x_i\}_{i=1}^{\infty}, y = \{y_i\}_{i=1}^{\infty}$ , let

$$[x, y]_{p} = \sum_{i=1}^{\infty} x_{i} |y_{i}|^{p-2} \bar{y}_{i}.$$
(2.1)

≠0.

Then  $[x, y]_p$  is a generalized semi-inner product which generates the norm. For any  $f \in X^*$ ,  $f = \{f_i\}_{i=1}^{\infty} \in l^q \left(\frac{1}{p} + \frac{1}{q} = 1\right)$ , let  $y_i = \begin{cases} 0 & \text{if } f_j = 0, \\ y_i = \begin{cases} 0 & \text{if } f_j = 0, \end{cases}$ 

$$\int \left| \left| f_j \right|^{\frac{p}{p-1}} e^{-i\alpha_j} \quad \text{if } f_j = \left| f_j \right| e^{i\alpha_j}$$

Evidently,  $y \in X$  and

 $f(x) = [x, y]_p$  for any  $x \in X$ .

If  $x = \{x_i\}_{i=1}^{\infty}$  and  $y = \{y_i\}_{i=1}^{\infty}$ , let

$$T_1x = \{x_i'\}_{i=1}^{\infty}, \quad T_2x = \{x_i''\}_{i=1}^{\infty}$$

where

$$x'_{i} = \begin{cases} x_{1} & i = 1, \\ 0 & i \neq 1, \end{cases} \quad x''_{i} = \begin{cases} x_{2} & i = 2, \\ 0 & i \neq 2. \end{cases}$$

Since  $[T_1x. y]_p = x_1|y_1|^{p-2}\overline{y_1}$  and  $[x, T_1y]_p = x_1|y_1|^{p-2}\overline{y_1}$ ,  $T_1$  is a generalized p-selfadjoint operator. Similarly,  $T_2$  is also a generalized p-selfadjoint operator. Let  $T = T_1 + iT_2$   $A = T_1 - iT_2$ . Since

$$[Tx, y]_{p} = x_{1}\bar{y}_{1}|y_{1}|^{p-2} + ix_{2}\bar{y}_{2}|y_{2}|^{p-2},$$
  
$$[x, Ty]_{p} = x_{1}\bar{y}_{1}|y_{1}|^{p-2} - ix_{2}\bar{y}_{2}|y_{2}|^{p-2},$$

we see that T is not a generalized p-selfadjoint operator. But since

 $[x, Ay]_{p} = x_{1}\bar{y}_{1}|y_{1}|^{p-2} + ix_{2}\bar{y}_{2}|y_{2}|^{p-2} = [Tx, y]_{p} = [x, T_{p}^{*}y]_{p},$ 

we have  $T_p^* = A$ . Since  $[Ax, y]_p = x_1 |y_1|^{p-2} \overline{y_1} - i x_2 |y_2|^{p-2} \overline{y_2} = [x, Ty]_p$ , we have  $(T_p^*)_p^* = T(M=1)$ . On the other hand, since

$$T_{p}^{*}Tx = T_{p}^{*}\{x_{1}, ix_{2}, 0, \cdots\} = \{x_{1}, x_{2}, 0, \cdots\},\$$
$$TT_{p}^{*}x = T\{x_{1}, -ix_{2}, 0, \cdots\} = \{x_{1}, x_{2}, 0, \cdots\},\$$

we have  $T_p^*T = TT_p^*$ , that is to say that T is a generalized *p*-normal operator.

**Definition 2.3.** Let  $T \in B(X)$ ,  $p \in (1, +\infty)$ . Write

 $W_{p}(T) = \{ [Tx, x]_{p} | ||x|| = 1 \},\$ 

which is called the generalized *p*-numeral range of T. If  $W_p(T) \subset \mathbb{R}^1$ , where  $\mathbb{R}^1$  denotes the real field, then T is said to be a generalized *p*-Hermidt operator; if for any  $x \in X$ ,  $[Tx, x]_p \ge 0$ , then T is said to be a positive operator (briefly writing  $T \ge 0$ ).

**Definition 2.4.** Let  $T \in B(X)$ . If  $T_p^*$  is a linear bounded operator and there is a constant M (relative to p) such that  $(T_p^*)_p^* = MT$  and  $T_p^*T - TT_p^* \ge 0$ , then T is called a generalized p-hyponormal operator.

Evidently, a generalized p-normal operator must be a generalized p-hyponormal operator.

**Example 2.5.** Let  $X = l^p$ . Define g, s, i, p[, ]<sub>p</sub> as in Example 2.2. Let  $\Pi$  be the unilateral shift operator, i.e., for any  $x = \{x_i\}_{i=1}^{\infty} \in X$ ,  $\Pi x = \{0, x_1, x_2, \cdots\}$ . Moreover, let

$$\Pi' x = \{x_2, x_3, \cdots\}.$$

Then II' is a linear bounded operator on X and since

$$[Ix, y]_{p} = \sum_{i=1}^{\infty} x_{i} |y_{i+1}|^{p-2} \overline{y}_{i+1} = [x, I'y]_{p},$$

we have  $\Pi_p^* = \Pi'$ . On the other hand

$$[x, (\Pi_p^*)_p^*y]_p = [\Pi_p^*x, y]_p = \sum_{i=1}^{\infty} x_{i+1} |y_i|^{p-2} \overline{y}_i = [x, \Pi y]_p.$$

Thus  $(\Pi_p^*)_p^* = \Pi(M=1)$ . But since  $\Pi_p^*\Pi = I$ ,  $\Pi_p^*\Pi - \Pi\Pi_p^* = T_1$  and  $[T_1x, x]_p = |x_1|^p \ge 0$ , i.e.  $T_1$  is positive, we know

$$\Pi_p^*\Pi - \Pi \Pi_p^* \ge 0.$$

So II is a generalized *p*-hyponormal operator, but is not a generalized *p*-normal operator.

From Definitions 2.1 and 2.3, we obtain easily the following result.

**Proposition 2.6.** If T is a generalized p-normal (or p-hyponormal) operator, then for any  $\lambda \in O$ ,  $\lambda T$  is also a generalized p-normal (p-hyponormal) operator.

In what follows, we discuss the constant M in Definitions 2.1 and 2.3.

**Proposition 2.7.** If T is a generalized p-hyponormal operator and  $T \neq 0$ , then M > 0.

*Proof* For convenience, write  $T^* = T_p^*$ ,  $T^{**} = (T_p^*)_p^*$ ,  $D = T_p^*T - TT_p^*$ . Since

$$\begin{split} \|T^{2}x\|^{p} &= [T^{2}x, \ T^{2}x]_{p} = [T^{2}x, \ M^{-2}T^{**2}x]_{p} = [T^{*2}T^{2}x, \ M^{-2}x]_{p} \\ &= [T^{*}(TT^{*}+D)Tx, \ M^{-2}x]_{p} = [(T^{*}T)^{2}x, \ M^{-2}x]_{p} + [T^{*}DTx, \ M^{-2}x]_{q} \\ &= [T^{*}Tx, \ M^{-1}T^{*}Tx]_{p} + [DTx, \ M^{-1}Tx]_{p} \\ &= [M^{-1}[^{p-2}\overline{M^{-1}}\{[T^{*}Tx, \ T^{*}Tx]_{p} + [DTx, \ Tx]_{p}] \end{split}$$

but  $D \ge 0$ , we have  $\overline{M^{-1}} > 0$ . Thus M > 0.

From Propositions 1.3 and 1.2, we have

**Theorem 2.8.** Let  $T \in B(X)$ ,  $p \in (1, +\infty)$ . If  $T_p^*$  is a linear bounded operator and  $(T_p^*)_p^* = MT$ , then

$$M = \|T\|^{\frac{p(2-p)}{(p-1)^2}}.$$

**Corollary 2.9.** Let T be a generalized p-selfadjoint operator and  $p \neq 2$ , then ||T|| = 1.

**Corollary 2.10.** Let T be a generalized 2-normal operator, then M=1, so that  $(T_2^*)_2^*=T$ .

**Corollary 2.11.** Let T be a generalized p-normal operator. If ||T|| = 1, then  $(T_p^*)_p^* = T$ , i.e., M = 1.

Sen [10, Note 2.5] asked: if T is a generalized p-selfadjoint operator for any  $p \in (1, \infty)$ , is T an isometric operator? The above Corollary 2.9 provides a partial answer to the problem.

## § 3. The Properties of the Generalized *p*-Normal Operators

For convenience, in what follows, we always write briefly

$$T^* = T^*_p, T^{**} = (T^*_p)^*_p, [x, y] = [x, y]_p.$$

**Theorem 3.1.** If T is a generalized p-normal operator, then

(1) for any  $x \in X$ ,  $||Tx|| = M^{\frac{1-p}{p}} ||T^*x||$ , and from this, we have  $N(T) = N(T^*)$ . (2) for any  $\lambda \in C$ ,  $N(T - \lambda I) = N((T - \lambda I)^*)$ .

Proof (1) Since

$$\begin{split} \|Tx\|^{p} &= [Tx, \ Tx] = [Tx, \ M^{-1}T^{**}x] = M^{1-p}[T^{*}Tx, \ x] = M^{1-p}[TT^{*}x, \ x] \\ &= M^{1-p}[T^{*}x, \ T^{*}x] = M^{1-p}\|T^{*}x\|^{p}, \end{split}$$

we have  $||Tx|| = M^{\frac{1-p}{p}} ||T^*x||$ .

(2) From Proposition 1.2 and the fact that T is a generalized p-normal operator, we have

$$\begin{split} (T-\lambda I)^*(T-\lambda I) = (T^*(T-\lambda I))^*M^{-1} - \lambda (T-\lambda I)^* \\ = T(T-\lambda I)^* - \lambda (T-\lambda I)^* = (T-\lambda I)(T-\lambda I) \end{split}$$

If  $x \in N(T-\lambda I)$ , then

$$\begin{split} \| (T - \lambda I)^* x \|^p &= [(T - \lambda I)^* x, \ (T - \lambda I)^* x] = [(T - \lambda I)(T - \lambda I)^* x, \ x] \\ &= [(T - \lambda I)^* (T - \lambda I) x, \ x] = 0, \end{split}$$

so that  $x \in N((T-\lambda I)^*)$ . Hence  $N(T-\lambda I) \subset N((T-\lambda I)^*)$ .

Similarly, since

$$\|(T-\lambda I)x\|^p = [x, (T-\lambda I)(T-\lambda I)^*x],$$

it follows that  $N((T-\lambda I)^*) \subset N((T-\lambda I))$ . Thus (2) holds.

**Corollary 3.2.** If T is a generalized p-normal operator, then eigenvectors corresponding to distinct eigenvalues of T are orthogonal mutually.

**Theorem 3.4.** Let T be a generalized p-normal operator for all  $p \in (1, +\infty)$ and  $T_p^* = T_p^*$  for all p,  $p' \in (1, +\infty)$ . If  $(T_p^*)_p^* = T$  and  $N(T) = \{0\}$ , then T is an isometric operator on X.

Proof Since

$$[Tx, y]_{p} = [x, T^{*}y]_{p} = ||T^{*}y||^{p-p'} [x, T^{*}y]_{p'}$$

and

$$[Tx, y]_{p} = ||y||^{p-p'} [Tx, y]_{p'} = ||y||^{p-p'} [x. T^{*}y]_{p'},$$

if  $y \in \overline{R(T)}^{\perp}$ , then  $||T^*y|| = ||y||$ . By Theorem 3.1, it follows that ||Ty|| = ||y||. By Proposition 1.6, if  $y \in \overline{R(T)}^{\perp}$ , then  $y \in N(T^*)$ . Thus, from the assumption and Theorem 3.1, it follows that  $y \in N(T)$ . But  $N(T) = \{0\}$ , so that y=0, the proof is complete.

**Corollary 3.5.** If T is a generalized p-selfadjoint operator for all  $p \in (1, +\infty)$ and  $N(T) = \{0\}$ , then T is an isometric operator on X.

The above corollary partially answers the Sen's question [10, Note 2.5].

**Theorm 3.6.** Let T be a generalized p-normal operator. Then  $N(T) \cup R(T)$  is dense in X.

*Proof* If  $N(T) \cup R(T)$  is not dense in X, then by Sen's result [7, Corollary 3], there is a vector  $z_0, z_0 \neq 0$ , such that  $z_0 \in (N(T) \cup R(T))^{\perp}$ . From this it follows that for any  $x \in X$ ,

$$[x, T^*z_0] = [Tx, z_0] = 0.$$

Thus  $T^*z_0=0$ . By assumption and Theorem 3.1,  $Tz_0=0$ . Thus  $z_0 \in N(T)$ . But since  $z_0 \in (N(T) \cup R(T))^{\perp}$ , we have  $||z_0||^p = [z_0, z_0] = 0$ , this contradicts  $z_0 \neq 0$ .

**Lemma 3.8.** Let  $T \in B(X)$ , Then  $\sigma_{II}(T) \subset \overline{W_p(T)}$ , Particularly, we have  $\partial \sigma(T) \subset \overline{W_p(T)}$ , where  $\partial \sigma(T)$  denotes the boundary of  $\sigma(T)$ .

The proof is completely analogous to the proof in the Banach space, so we omit it.

From Lemma 3.8 and Sen [10, Corollary 2.2], we have

**Theorem 3.9.** If T is a generalized p-normal operator, then

$$\sigma_{I}(T) = \sigma(T) \subset \overline{W_p(T)}.$$

From the definition of single-valued extension property of operator and (1.1), (1.2), we obtain easily the following theorem.

**Theorem 3.10.** If T is a generalized p-normal operator, then T has the singlevalued extension property.

#### § 4. Further Properties of Generalized *p*-Normal Operators

In this paragraph, we will prove that for any generalized p-hyponormal operator T, the following formula holds:

$$V(T) = |W_p(T)| = ||T||$$

and for any gneralized p-normal operator T, we have

 $\|(T-\lambda I)^{-1}\| = 1/\operatorname{dist}(\lambda, \sigma(T)) \text{ for all } \lambda \in \rho(T).$ 

The first result is the affirmative answer to Sen's problem [10, Note 2.19].

On the Hilbert space, Li shaokuan<sup>[3]</sup> has defined the concept of class (N)-operators. Evidently, his definition may be extended to the case of Banach space.

Let  $T \in B(X)$ , T is called a class (N)-operator on X if for any  $x \in X$ ,

 $\|Tx\|^2 \leqslant \|T^2x\| \|x\|.$ 

**Proposition 4.1.** If T is a class (N)-operator on X, then for any  $p \in (1, +\infty)$  $r(T) = ||T|| = |W_p(T)|.$ 

**Proof** The proof of r(T) = ||T|| is completely analogous to the proof in [3], we omit it. From Lumer [5, Theorem 4] and Sen [10, Note 2.9], it follows that

$$r(T) \leqslant |W_p(T)| \leqslant ||T||,$$

which completes the proof.

$$r(T) = |W_p(T)| = ||T||.$$

**Proof** By Proposition 4.1, we only need to prove that T is a class (N)-operator. Without loss of generality, we may assume  $T \neq 0$ . If  $D = T^*T - TT^* \ge 0$  and  $T^{**} = MT$ , by Proposition 2.6 it follows that M > 0 and

$$T^{2}x \|^{p} = [T^{2}x, T^{2}x] = [T^{2}x, M^{-2}(T^{**})^{2}x] = [T^{*2}T^{2}x, M^{-2}x]$$
  
=  $[T^{*}(TT^{*}, +D)Tx, M^{-2}x] = [(T^{*}T)^{2}x, M^{-2}x] + [T^{*}DTx, M^{-2}x],$   
 $\geq [(T^{*}T)^{2}x, M^{-2}x] = [(T^{*}T)x, T^{*}T(M^{-1}x)] = M^{1-p} \|T^{*}Tx\|^{p}.$ 

Moreover, since

$$||Tx||^{p} = [Tx, Tx] \leq [x, x]^{\frac{1}{p}} [T^{*}Tx, T^{*}Tx]^{\frac{p-1}{p}}$$

and

$$||Tx||^{p} = [T^{*}Tx, M^{-1}x] = M^{1-p}[T^{*}Tx, x] \leq M^{1-p}||T^{*}Tx|| ||x||^{p-1},$$

we have

 $||Tx||^{2p} \leq M^{1-p} ||T^*Tx||^p ||x||^p$ 

Thus  $||Tx||^{2p} \leq ||T^2x||^p ||x||^p$ . It follows that

$$\|Tx\|^2 \leqslant \|T^2x\| \|x\|.$$

**Theorem 4.3.** Let 
$$T \in B(X)$$
,  $p \in (1, +\infty)$ , If  $TT_p^* = T_p^*T$ , then  $r(T) = ||T||$ .

**Proof** For convenience, write  $T^* = T_p^*$ ,  $[, ] = [, ]_p$ . Since

 $||Tx||^{p} = [Tx, Tx] = [x, T^{*}Tx] \leq ||x|| ||T^{*}Tx||^{p-1},$ 

we have  $||T||^{p} \leq ||T^{*}T||^{p-1}$ . Moreover, since

$$||T^*T||^{p-1} \leq ||T^*||^{p-1} ||T||^{p-1},$$

by Proposition 1.3 it follows that  $||T^*T||^{p-1} \leq ||T||^p$ . Thus

$$||T||^{p} = ||T^{*}T||^{p-1}.$$

On the other hand, since

77

(4.1)

$$||T^*Tx||^p = [T^*Tx, T^*Tx] = [TT^*Tx, Tx] = [T^*T^2x, Tx] \le ||T^*T^2x|| ||Tx||^{p-1},$$
  
we have

 $\|T^*T\|^p \leqslant \|T\|^{p-1} \|T^*\| \|T^2\| = \|T\|^{p-1} \|T\|^{\frac{1}{p-1}} \|T^2\| = \|T\|^{\frac{p^2-2p+2}{p-1}} \|T^2\|.$ (4.2) By (4.1) and (4.2), it follows that

By (4.1) and (4.2), it follows that

$$\|T\|^{\frac{p^3-(p^3-2p+2)}{p-1}} \leq \|T^2\|,$$

i.e  $||T||^2 \le ||T^2||$ , Hence  $||T||^2 = ||T^2||$ .

In what follows, we prove that equality  $||T^n|| = ||T||^n$  holds for any positive integral number *n*. If for any  $n \leq k$ , equality  $||T^n|| = ||T||^n$  holds, since

 $\|T^{k}x\|^{p} = [T^{k}x, T^{k}x] = [T^{k-1}x, T^{*}T^{k}x] \leq \|T^{k-1}x\| \|T^{*}T^{k}x\|^{p-1}$ we have  $\|T^{k}\|^{p} = \|T^{k-1}\| \|T^{*}T^{k}\|^{p-1}$ . By assumption, it follows that

$$|T|^{kp-k+1} \leq ||T^*T^k||^{p-1}.$$

But since

$$\|T^*T^k\|^{p-1} \leqslant \|T^*\|^{p-1} \|T^k\|^{p-1} = \|T^{r}\| \|T\|^{k(p-1)}$$

we have

$$\|T^*T^k\|^{p-1} = \|T\|^{kp-k+1}.$$
(4.3)

On the other hand, since

 $\|T^*T^k x\|^p = [T^*T^k x, T^*T^k x] = [T^*T^{k+1}x, T^k x] \le \|T^*\| \|T^{k+1}x\| \|T^k x\|^{p-1}, \quad (4.4)$  we have

$$\|T^*T^k\|^{\mathfrak{p}} \leq \|T^*\| \|T^{k+1}\| \|T^k\|^{\mathfrak{p}-1}.$$
(4.4)

From (4.3) and (4.4), it follows that

$$\|T\|^{\frac{kp-k+1}{p-1}} \leq \|T^*\| \|T^{k+1}\| \|T^k\|^{p-1} \leq \|T\|^{\frac{1}{p-1}} \|T^{k+1}\| \|T\|^{k(p-1)}.$$

Then

$$\|T\|^{k+1} = \|T\|^{\frac{p(kp-k+1)1}{p-1} - (kp-k)} \leq \|T^{k+1}\|.$$

Thus  $||T^{k+1}|| = ||T||^{k+1}$ . From this, it follows that r(T) = ||T||.

**Corollary 4.4.** Let T be a generalized p-normal operator and  $T \neq 0$ . Then for any  $\lambda \in C$ , we have

$$r(T-\lambda I) = \|T-\lambda I\|.$$

**Proof** Let  $T^{**} = MT$ . From Sen [7, Theorem 3], it follows that

$$(T-\lambda I)^{*}T^{**} = (T^{*}(T-\lambda I))^{*} = ((T-\lambda I)T^{*})^{*} = T^{**}(T-\lambda I)^{*}.$$

Thus

$$(T-\lambda I)^*(T-\lambda I) = M^{-1}(T-\lambda I)^*T^{**}-\lambda(T-\lambda I)^* = M^{-1}T^{**}(T-\lambda I)^*-\lambda(T-\lambda I)^*$$
$$= (T-\lambda I)(T-\lambda I)^*.$$

By Theorem 4.3, the required result holds.

**Corollary 4.5.** If T is a generalized p-normal operator, then for any  $\lambda \in \rho(T)$  we have

$$r((T-\lambda I)^{-1}) = ||(T-\lambda I)^{-1}||.$$

Hence by spectral mapping theorem, we have

No. 1 Wei, G. Q. & Shen, Y. Q. p-NORMAL AND p-HYPONORMAL OPERATORS

$$\|(T-\lambda I)^{-1}\| = 1/\text{dist} (\lambda, \sigma(T)).$$

*Proof* Under the conditions of the corollary, we can easily prove that equality

$$(T-\lambda I)^{-1}((T-\lambda I)^{-1})_{p}^{*}=((T-\lambda I)^{-1})_{p}^{*}(T-\lambda I)^{-1}$$

holds. Hence by Theorem 4.4, it follows that

$$r((T-\lambda I)^{-1}) = \|(T-\lambda I)^{-1}\|.$$

#### References

- [1] Xia Daoxing, Yie Shaozhong etc., Real function and functional analysis.
- [2] Xia Daoxing, On the non-normal operators-semi-hyponormal operators, Sci. Sinica, 23 (1980), 700-713.
- [3] Li Shaokuang, Quasi-similarity of power class(N)-operators, Chin. Ann. Math., 5A: 2(1984), 165-167.
- [4] Nath, B., On a generalization of semi-inner product spaces, Math. J. Okayama. Univ., 15 (1971/72), 1-6.

[5] Lumer, G., Semi-inner product spacees, Trans. Amer. Math. Soc., 100 (1961), 29-43.

[6] Milicie, P. M., Sur le semi produiscalaire generalise, Mat. Vesnik, 10: 25 (1973), 325-329.

[7] Sen, D. K., Sur adjoint generalise d'un operteur, C. R. Acad. Sci. Paris, 287 (1978), 13-14.

- [8] Sinclair, A. M., The norm of Hermitiae element in a Banach algebra, Proc. Amer. Math. Soc., 28 (1971), 446-450.
- [9] Vidav, I., Einemetrische kennzeichnv der selb stad jungiertun opertoren, Math Zeit, 66 (1956), 121-126.

[10] Sen, D. K., Generalized p-selfadjoint operators on Banach space, Math. Japan, 27:1 (1982), 151-158.